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{us: - ch
1.1 (i) #AEf sy sl | (i) wed aifoswr aaAarE s | 2X1=2

Il (i) &7 aregsre v RAfduy Ry argerar smdlie | (i) a3 Serar: K
FIONAH ? AT el Hhed, T4 T SAdr: gt Jeiear Atd gfe e

.  3rex sy 3fad s e 1
V. ()& (ii)areasrar (i) 3X1=3
gus: - @

2. ()STATETEa: (i)3reger (i) dF (iv)erer(v)aforafaed (vijuraT: (vijeaH  10x%=5
(viii)3TaTHA (ix) HHATOT (x)sier:

3. oM INRE gsaaEaie @ hdd Afgsafed 5X1=5
4. ()ygF &= yerer: aifea (i) & e esfa 5x1=5
(iii) AT TdaTer ST AT (iv) Fennfer FaT gdfed
(v)SIeIT: PR qEfed (vi) 318 @l St
(vii)areT: ga7 et
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5. (i) i + v (iiRREeAi)ama+aR (v)yaseeas (v)iaq + afae
6. (i) Wrestean A (i) AsEr wHAew (i) REor afgaw
(iv) el giee, (v) T T8
7. (iprerEr (g + T (i)AS + @ (VAT +5F (V)HATT+AIY
8. () TAA (ii) I@dH: (i) HfAaT
9. (i) gur (ii) fREd (i) T (iv) T (v) 39N (vi) &
10. ()Y g@  (ii)ared s (i) URET  (iv)greer
1. (i) goad: (i) IR (i) Tesfea (iv) 3rurd
gus:-g
12,1 (i) fedar (i) Faq

Il. (i) el ¥ T T FOTaEASTE Al ST 99 §F F 9y
(i) RAaderda AfdT: ¥ saaw fagrr ggifeld e |

n.  ()faeer:  (ii)faas

13.1 (i) FIUMR: IFFAHATC FTH: (i) geo fauT

Il. (i) Trurersr:, goramel, Wt o | R@e: a1 T 3ryar e FIfY |
(if) T=IIRL T Jaod oA FAYUSA Grafcar ARRSAA |

N. (i) Fr: (i) S
14.1 ()S1T: ATcAT: AT: gwafd | (AT wafa garfa seofa |
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4x1=4

3x1=3

6x 12=3
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2x Y2=1

2X1=2

2X1=2

2x Y2=1

2X1=2

2X1=2

2x Y2=1



15.

16.

17.

18.

() HRFAA Fot F FA (i) AT gt ganfa swafa |

(i3 (ii)rfeas

1.(1)3maR: (i) faqeTe, (iii) qrove=y: (iv)faerva:
Il (i) Tagra:(ii)yTaysaea: (iii)agsr (iv)aTasi
(i) FEIH (i) HEEH (i) F:  (iv) F9T
(i) Fua AT o R sunfeaaH |
(i) TheT T&T T JIUT: ST |
(i) &: g gF gerfoad graerd |
(iv) vffeard & Ff>aq e |
(v) afeae ¢ w4 9l TETeTea yiaE: |
(vi) oFT greeafaer Ffafd: yqe: |

(vii) T Ta 3= PRGARS |
(viii) AT REATAAAT TR Acarscdg=T |

(i) 3ram: (i) eATe:(iii) AL (iv) HIATHFT: (V) FORH (vi) Y

End of the Answer Paper
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